

**INVOICE: 264294** 

Invoice Date: Oct-12-2023, 03:15 AM EST

# **Billing To**

### **ATC TCOE**

Lane 2, Block 2, Boston, Texas USA, 77077 atctcoe2@gmail.com Phone No: 2562690950

### **Pickup Location**

### **Latin Walker**

#1, Garden of Eden Road, Apple new, New You Avenues, Gate, Pepper Leaf Level 3, USA, 13066 Left Wing, Route 33, EEF, Boston, Massachusetts USA, 02123

ctbidsqa@gmail.com Phone No: (121) 212-2212

## **Shipping To**

testing for address sale , --new, New York USA, 13066

Items	SKU	Amount	Тах	Tax Amount	ВР	BP Amount	BP Tax Amount	Gross Amount
Fleur-de-Lis & Coll ectibles Online Au ction Pt. 2 - Ends 6/9!	CLONE_CLONE_VD FVWPZDMAN7	\$25.00	10%	\$2.50	25%	\$6.25	\$0.63	\$34.38
Electronic Video G ames	CLONE_CLONE_XL 11L1L6NJY5	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Vintage	CLONE_CLONE_UR 4CGVPQMEGH	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Household Kitche n	CLONE_CLONE_7D IGI4FJHH6O	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Kitchen	CLONE_CLONE_3A PJYBT3JTVJ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Coins	CLONE_CLONE_GP 7EF5GNHVK3	\$3.00	10%	\$0.30	25%	\$0.75	\$0.08	\$4.13
Coins Coins	CLONE_CLONE_W UGO3RNE4W5B	\$25.00	10%	\$2.50	25%	\$6.25	\$0.63	\$34.38
Clothing Vintage	CLONE_CLONE_KS V3SMSZNBGZ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Camera Vintage	CLONE_CLONE_S6 Y6OISFWKMR	\$2.50	10%	\$0.25	25%	\$0.63	\$0.06	\$3.44
The telecom oper ator said it has alr eady written to th e Department of T elecommunication	CLONE_CLONE_DI LKA1XSKSAD	\$5.00	10%	\$0.50	25%	\$1.25	\$0.13	\$6.88
Dolls	CLONE_CLONE_GH HCMAMMN7S6	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Blank Screen	CLONE_CLONE_AE KRUH1N8NDL	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Coins	CLONE_CLONE_CL ONE_49WY6DVE3 CT8	\$22.50	0%	\$0.00	25%	\$5.63	\$0.00	\$28.13
Coins Main	CLONE_CLONE_CL ONE_ICAGZILVUW RC	\$19.00	0%	\$0.00	25%	\$4.75	\$0.00	\$23.75

Collect Coins 2	CLONE_CLONE_CL ONE_GIOIY3EHVU YP	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Coins Unde Collec tables	CLONE_CLONE_CL ONE_D3HXYXUKR QKK	\$25.00	10%	\$2.50	25%	\$6.25	\$0.63	\$34.38
Coins - Coins	CLONE_CLONE_CL ONE_QOIWP4Y6X WSO	\$11.00	10%	\$1.10	25%	\$2.75	\$0.28	\$15.13
Electronic Video G ames	CLONE_CLONE_CL ONE_SHXMIJ9LAL0 Q	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Toys Video Game 1	CLONE_CLONE_CL ONE_GR17TDYU4 6UE	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
COins Main from F F on Windows	CLONE_CLONE_CL ONE_UTXBPAIFBH WH	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Coins under collec tabile from Firefox on Windows	CLONE_CLONE_CL ONE_YRLGQOSXZ 80I	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Vaishali Parekh, Vi ce-President - Tec hnical Research at Prabhudas Lilladh er, said, "The stoc k has	CLONE_CLONNE_6 U5TZMVKT5SV	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Electronic Video G ames from FF on windows 4th item	CLONE_CLONE_CL ONE_VGZ3W63N2 KRA	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
craft from FF on w indows 5th item	CLONE_CLONE_CL ONE_YADRORLJ40 X0	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
6th ff win item 5-d ay, 10-, 20-, 30-, 5 0-, 100-, 150-, 20 0-day simple movi ng averages (SMA s).		\$5.00	10%	\$0.50	25%	\$1.25	\$0.13	\$6.88
from FF mac 01	CLONE_CLONE_CL ONE_KEGRHW6M D1TD	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
FF Mac 02 test	CLONE_CLONE_CL ONE_O16ZKL7JPII Z	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
FF Mac 03	CLONE_CLONE_CL ONE_AQQYTVCR6 LQZ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
from mac ff adver	CLONE_CLONE_CL ONE_R86XDGGBB 2I6	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Coins 92	CLONE_CLONE_CL ONE_LIOS9EBB9KY Y	\$2.50	0%	\$0.00	25%	\$0.63	\$0.00	\$3.13
Coins Main92	CLONE_CLONE_CL ONE_TSYCBFMP0P R0	\$25.00	0%	\$0.00	25%	\$6.25	\$0.00	\$31.25
Electronic Video G	CLONE_CLONE_CL							

ames	ONE_HMEDAEVUZ SQF	\$2500.00	10%	\$250.00	25%	\$625.00	\$62.50	\$3437.50
Toys Video	CLONE_CLONE_CL ONE_LCGGAR1SE EQA	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Antique Toys	CLONE_CLONE_CL ONE_PQEJQPG8HZ G6	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Vintage	CLONE_CLONE_CL ONE_NBQSFIDU6H UT	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Cam Vintage	CLONE_CLONE_CL ONE_U9SZMR7KH VKZ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Toys Antique And 13 Video Games	CLONE_CLONE_CL ONE_2UBCWGVRG FWJ	\$35000.0 0	10%	\$3500.00	25%	\$8750.00	\$875.00	\$48125.00
In App 39+1	CLONE_CLONE_CL ONE_INA001234	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
In App Plus Galler y	CLONE_CLONE_CL ONE_INA0023332 4	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Gallery 39+1	CLONE_CLONE_CL ONE_ING002345	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Kush Ghodasara, I ndependent Mark et Expert, CMT, sa id, "Technical indic ators have turned bullish,	CLONE_CLONE_IN A2333345	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Drill Down Fokder	CLONE_CLONE_CL ONE_DF6777	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
InApp los 39+1	CLONE_CLONE_CL ONE_INAIOS23333 2	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
From 13 Craft	CLONE_CLONE_CL ONE_F12324	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Frm Drive Android 13	CLONE_CLONE_CL ONE_DR3444345	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Item Android 89 Q	CLONE_CLONE_CL ONE_I890001	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Jewel From Gallery	CLONE_CLONE_CL ONE_J890001A	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Music In App	CLONE_CLONE_CL ONE_M890001A	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Cam B 89	CLONE_CLONE_CL ONE_CB890001	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Interrupt 01	CLONE_CLONE_CL ONE_I89223344	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Jewel 40 In App	CLONE_CLONE_CL ONE_JEE33333	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Boat	CLONE_CLONE_CL ONE_BOA22243	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Cabinet	CLONE_CLONE_CL ONE_CAB4443	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
	CLONE_CLONE_CL							

Computer 40	ONE_COMPUTER2 3	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Boat R	CLONE_CLONE_CL ONE_BOA222433	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Cabinet r	CLONE_CLONE_CL ONE_CAB44434	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Computer 40 X	CLONE_CLONE_CL ONE_COMPUTER2 3R	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Boat Red	CLONE_CLONE_CL ONE_BOA22243R	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Cabinet Rd	CLONE_CLONE_CL ONE_CAB44434W	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Computer 40 Red	CLONE_CLONE_CL ONE_COMPUTER2 S	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Farm	CLONE_CLONE_CL ONE_FA6657876	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Hunting Auction	CLONE_CLONE_CL ONE_OQ304STRQ TP9	\$1.00	0%	\$0.00	25%	\$0.25	\$0.00	\$1.25
Gallery Pic Order 1	CLONE_CLONE_CL ONE_4MKMKAK6H PZS	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Hunting Auction	CLONE_CLONE_CL ONE_MNZALKAX5 WXS	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
The Galaxy Z Fold 5 runs on the pow erful Snapdragon 8 Gen 2 chip, has 12GB RAM, offers up to 1TB	CLONE_CLOE_3XN G4GB2W6CZ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Toys gdrive	CLONE_CLONE_CL ONE_WSD8PACJJ8 MX	\$1.00	0%	\$0.00	25%	\$0.25	\$0.00	\$1.25
Video Games Elec tronic	CLONE_CLONE_CL ONE_T4CTSJ4FGTS K	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Video Games Und er Toys	CLONE_CLONE_CL ONE_SJDEMMYUL GM0	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Kitchen Collectabl es	CLONE_CLONE_CL ONE_MKEXWUMS ROVZ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
As far as levels ar e concerned, Rs 1 2.50 should be se en as immediate hurdle. On the flip si	CLONE_CLONE_CL ONE_B9CMS1BCK WZN	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Adjusted Gross Re venue (AGR) dues plea. In this mome ntum, it may touc h Rs 12.50 in the near term.	CLONE_CLONE_CF YQWEDT5VYQ	\$1.00	0%	\$0.00	25%	\$0.25	\$0.00	\$1.25
Test saledashboar	CLONE_CLONE_JF7							

d	AI8YPOC8Q	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
test refresh	CLONE_CLONE_2Z LGYCGIRKRP	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
test refresh2	CLONE_CLONE_R7 9DG8QQMTVG	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Art Other Sale	CLONE_CLONE_AM MO2232	\$23.56	10%	\$2.36	25%	\$5.89	\$0.59	\$32.40
test	CLONE_CLONE_PO B3TJLI7ZWS	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Cloth Vintage	CLONE_CLONE_SK US2323A2	\$25258.8 0	0%	\$0.00	25%	\$6314.70	\$0.00	\$31573.50
Jewel Antique	CLONE_CLONE_YJL YWFVSIB8D	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Household Kitche n	CLONE_CLONE_YD TXHEF4RFBL	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Toys Video	CLONE_CLONE_Q8 INMY2TEHEA	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Electronic Videos	CLONE_CLONE_GH KFGYPXEQUT	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Kitchen	CLONE_CLONE_1R EQHMUKVB4W	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Coins	CLONE_CLONE_9C VMUKYNINXP	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Vintage	CLONE_CLONE_VT I93SW5PQAV	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Vintage Camera	CLONE_CLONE_HS W5PFT3CVMO	\$255.00	0%	\$0.00	25%	\$63.75	\$0.00	\$318.75
Coins Seller Offlin e	CLONE_CLONE_W YMZVJRZ4G22	\$23.56	10%	\$2.36	25%	\$5.89	\$0.59	\$32.40
Art Other Admin	CLONE_CLONE_OF F21112E	\$25.35	10%	\$2.54	25%	\$6.34	\$0.63	\$34.86
Admin Antique Ot her Offline The scr ip has a one-year beta of 0.93, indic ating low volatility	CLONE_CLONE_OF F1234T	\$25.85	10%	\$2.59	25%	\$6.46	\$0.65	\$35.55
The Samsung Gal axy S23 Ultra 5G i s one of the fancie st phones you can get,	CLONE_CLOSEFV8 6UX6TO	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone ICloud Edit ed	CLONE_CLONE_AH COL3TS0MDV	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone ICloud Dp Switch	CLONE_CLONE_EX JYNYI5RYQ3	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Icloud 89k b	CLONE_CLONE_ST R5U2H6I7VC	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Camera Ed ited	CLONE_CLONE_DV E6M59ALVNC	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Camera	CLONE_CLONE_LO YZOKR6WWOQ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Gdrive Edit ed	CLONE_CLONE_90 VE04GEZOPJ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Local Edite	CLONE_CLONE_T							

d	WKM6H48YUQD	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Local	CLONE_CLONE_P WSXQNRYQQ36	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Gdrive Two Images For Switch ing	CLONE_CLONE_IFB URF29QQUW	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Gdrive Gif 256kb	CLONE_CLONE_W 3RC3JWVC16M	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Gdrive Hei c 2.1mb	CLONE_CLONE_2P KICNGLVGWR	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Gdrive 30 mb Png	CLONE_CLONE_NZ XFHS0RKEBS	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
IPhone Gdrive 20 MB File	CLONE_CLONE_JIT PLDHM5BRP	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
From IPhone 15m b Gdrive Image	CLONE_CLONE_SE EM128CLQOU	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
auction item	CLONE_CLONE_CL ONE_CLONE_DKLS JFG54SGJN45	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
buy now -3 to che ck	CLONE_CLONE_CL ONE_CLONE_AKLFJ ;5745DG	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Knives Unsold	CLONE_CLONE_YR L6KH8DODWK	\$25.00	10%	\$2.50	25%	\$6.25	\$0.63	\$34.38
Digital   Auction   I tem Level Shippab le - Retract	CLONE_CLONE_V9 CXHW3JTGHO	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Shoes   Auction   I tem Level Shippab le   Change Bidder after invoice	CLONE_CLONE_SF XJ9PGEI6N7	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Film   Auction   RP Not Met   Item lev el shippable	CLONE_CLONE_FM W3AELRYQ6H	\$100.00	10%	\$10.00	25%	\$25.00	\$2.50	\$137.50
Hardback Book   C hildren Special   S tories And Life	CLONE_CLONE_LP QPEENIOFU0	\$23.00	0%	\$0.00	25%	\$5.75	\$0.00	\$28.75
Art Other	CLONE_CLONE_1Q 5GV12222	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Coins N Coins Fro mlocal Plus Gdrive	CLONE_CLONE_T9 G2ZMPNWIU9	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Clothing Accessori es Package	CLONE_CLONE_CA P23_456	\$36.00	0%	\$0.00	25%	\$9.00	\$0.00	\$45.00
Ant Coins Offline L iving Room	CLONE_CLONE_LR COI-23/23	\$36.99	10%	\$3.70	25%	\$9.25	\$0.93	\$50.87
Roman Collection Coins	CLONE_CLONE_E7 KGS7FYLBY3	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Coins auction	CLONE_CLONE_UL IVPQKYUMIN	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Kitchen Auction wi th RP	CLONE_CLONE_TF K7UQRNJSXJ	\$34.99	10%	\$3.50	25%	\$8.75	\$0.88	\$48.12
craft auction buy now	CLONE_CLONE_ZS AI2RTQTFNS	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Electronic Video G ames	CLONE_CLONE_H MEDAEVUZSQF	\$2500.00	10%	\$250.00	25%	\$625.00	\$62.50	\$3437.50

Collect Games	CLONE_CLONE_XQ XGK5NEXFRP	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Toys Video	CLONE_CLONE_LC GGAR1SEEQA	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Antique Toys	CLONE_CLONE_PQ EJQPG8HZG6	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Vintage	CLONE_CLONE_NB QSFIDU6HUT	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Cam Vintage	CLONE_CLONE_U9 SZMR7KHVKZ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Toys Antique And 13 Video Games	CLONE_CLONE_2U BCWGVRGFWJ	\$35000.0 0	10%	\$3500.00	25%	\$8750.00	\$875.00	\$48125.00
Coins Coins	CLONE_CLONE_CL ONE_YBUDTESJA6 XZ	\$25.00	10%	\$2.50	25%	\$6.25	\$0.63	\$34.38
B96 Coins In Coins	CLONE_CLONE_CL ONE_EVLF1FCP4S F4	\$50.00	10%	\$5.00	25%	\$12.50	\$1.25	\$68.75
B96 Collect Coins	CLONE_CLONE_CL ONE_EBHI79QISFX B	\$15.00	10%	\$1.50	25%	\$3.75	\$0.38	\$20.63
Collect Kitchen	CLONE_CLONE_CL ONE_7SN5XH90P W1X	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Household Kitche n	CLONE_CLONE_CL ONE_UPTERQBNQ NGA	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Hunting	CLONE_CLONE_CL ONE_ETT9H8D06X 0B	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Collect Vintage	CLONE_CLONE_CL ONE_6TIDIL69BCZ B	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Toys Video Games	CLONE_CLONE_CL ONE_ZS9FSCJFDV WK	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Electronic Video G ames	CLONE_CLONE_CL ONE_LXLL4HQCJV DO	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Clothing Vintage	CLONE_CLONE_CL ONE_92XRKEN08B L4	\$5000.00	10%	\$500.00	25%	\$1250.00	\$125.00	\$6875.00
"Hyundai" standar dizes \$\$ 3-point \$ \$ seatbelt and saf ety reminder   for all "models in Indi a" to com	CLONE_CLONE_CL ONE_VBSTOQVT9L NS	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Item buynow	CLONE_CLONE_CL ONE_VZOXNWB3 MPMG	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Electronic Video G ames 2	CLONE_CLONE_CL ONE_VDFVWPZDM AN7	\$25.00	10%	\$2.50	25%	\$6.25	\$0.63	\$34.38
Toys Video Games	CLONE_CLONE_CL ONE_FYG0PRVOW	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38

	US6							
Electronic Video G ames	CLONE_CLONE_CL ONE_XL11L1L6NJY 5	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Trains   ITem   "Shi ppable"   This' s a toy   @ Buy Soon     Fast n furious ser ies* cast iron mod el \$	CLONE_WQR1MLJ	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Sculpture the seco nd	CLONE_GKH7PTNE VJJO	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38
Prints   Auction wi th Buy Now	CLONE_4MBYACXE NZDW	\$1.00	10%	\$0.10	25%	\$0.25	\$0.03	\$1.38

\$142907.49

Shipping Fee --- \$154.90
Handling Fee --- \$306.65

**Total Amount** \$143369.04

An **invoice**, **bill** or **tab** is a <u>commercial</u> document issued by a <u>seller</u> to a <u>buyer</u> relating to a sale transaction and indicating the <u>products</u>, quantities, and agreed-upon <u>prices</u> for products or <u>services</u> the seller had provided the buyer.

<u>Payment terms</u> are usually stated on the invoice. These may specify that the buyer has a maximum number of days to pay and is sometimes offered a discount if paid before the due date. The buyer could have already paid for the products or services listed on the invoice. To avoid confusion and consequent unnecessary communications from buyer to seller, some sellers clearly state in large and capital letters on an invoice whether it has already been paid.

From a seller's point of view, an invoice is a *sales invoice*. From a buyer's point of view, an invoice is a *purchase invoice*. The document indicates the buyer and seller, but the term *invoice* indicates money is owed *or* owing.



Within the <u>European Union</u>, an invoice is primarily legally defined by the EU VAT directive as an accounting <u>voucher</u> (to verify tax and VAT reporting) and secondly as a <u>Civil law (common law)</u> document.

An invoice should not be mixed up with <u>Proforma Invoice</u> that indicates commitment, intention, or prepayment request.

As per an earlier leak by the tipster, the iPhone 15 Pro Max might come with a 1.55 mm bezel size that will be slimmer than the Xiaomi 13. As a result, it could become the smartphone with the **slimmest bezels** to date.

"iPhone 15 Pro Max is destined to be a super flagship," @Universelce wrote on Twitter with a photo of the screen protector. The tipster has a proven track record of revealing details about upcoming smartphones. Looking at the tips, the iPhone 15 Pro Max could take the near-edgeless experience to sky level

Coming to comparison, the iPhone 14 Pro came with a bezel size of 2.17mm. The S23 had bezels measuring 1.95mm. Meanwhile, another leakster, ShrimpApple Pro, cited in a 91Mobiles report, claims that the iPhone 14 Pro Max could debut with curved bezels. Resulting in a look similar to the Apple Watch.

Speaking of more leaks, the iPhone Pro models could debut with a big 48MP primary lens on the back to compete with its premium Android counterparts. In a previous tweet, the tipster claimed the Pro Max model has an <a href="MX903 sensor"><u>IMX903 sensor</u></a>. It could reportedly also have a periscope camera. As for construction, the phones may come with a titanium frame with 5 per cent extra thickness.

**Meanwhile**, the latest reports have reported that the Pro models won't debut with the much-hyped <u>solid-state buttons</u>. It came as a <u>U-turn</u> to initial leaks that hinted otherwise. The hardware is now reserved for the iPhone 16 series, reports suggest.

The iPhone 15 series will likely have a USB Type-C port for charging and data transfer. Additionally, Dynamic Island could debut in the vanilla and the Plus models. In view of these upgrades, the phones could cost significantly more than their predecessors.

This article may contain affiliate links that Microsoft and/or the publisher may receive a commission from if you buy a product or service through those links.